
BORONIA TOWBARS 
1/12 EDINA RD 

FERNTREE GULLY 
VIC 3156 

(03) 9752 2968 
 
 
 

VOLK1H FITTING INSTRUCTIONS 
1996 – TRANSPORTER 

 
 

FITTING INSTRUCTIONS: 
 
 
 
REMOVE 2 BUMPER BAR HOLDING BOLTS ON PASSENGER SIDE. 
MOUNT TOWHITCH ANGLE BRACKET USING BOLTS SUPPLIED 
COMPLETE WITH SPRING & FLAT WASHERS, TIGHTEN. 
 
FIT TOWHITCH TO ANGLE BRACKET USING 3/8 BOLTS SUPPLIED 
COMPLETE WITH SPRING & FLAT WASHERS, DO NOT TIGHTEN AT THIS 
STAGE. 
FIT 16mm BOLT WITH LARGE PLATE SUPPLIED TO DRIVERS SIDE TIE 
DOWN HOOK. 
TIGHTEN 3/8 BOLTS ON PASSENGER SIDE BRACKET. 
TIGHTEN 16mm BOLT ON DRIVERS SIDE. 
DRILL (10mm) REMAINING 2 HOLES VIA TOWHITCH (ONE EITHER SIDE 
REAR SUB FRAME, FIT BOLTS SUPPLIED COMPLETE WITH SPRING & 
FLAT WASHERS, TIGHTEN. 
CHECK ALL BOLTS FOR TIGHTENESS. 
 
 
 

FITTING KIT: 
 
 
1 – 16 x45mm BOLT,NUT, SPRING & FLAT WASHER. 
1 – 3 x 3 x ½ WITH 16mm CLEARANCE HOLE PLATE. 
1 – 11/2 x 3/8 BOLT, NUT SPRING & FLAT WASHER. 
4 – 11/4 x 3/8 BOLTS, NUTS, SPRING & FLAT WASHERS. 
2 – DEE SHACKLES. 


